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alpha13_4eX1X:cyclenum {run == 6390}
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alpha46_4eY4aY:cyclenum {run == 6390}
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delta13_12X4eX:cyclenum {run == 6390}
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96.4−

96.2−

96−

95.8−

95.6−

95.4−
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95−

94.8−
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usl_1X:cyclenum {run == 6390}
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cyclenum
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Y

usl_4eY:cyclenum {run == 6390}
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34.5−

34−
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6125 6125.5 6126 6126.5 6127
cyclenum
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124.5−us
r_
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usr_1X:cyclenum {run == 6390}
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169.2
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170.8
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cyclenum
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Y
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16732.4

16732.6

16732.8
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16733.8
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usl_coil1:cyclenum {run == 6390}
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3346.6

3346.8
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usl_coil3:cyclenum {run == 6390}
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usl_coil4:cyclenum {run == 6390}
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usl_coil7:cyclenum {run == 6390}
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usr_coil1:cyclenum {run == 6390}
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3188−
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usr_coil3:cyclenum {run == 6390}

6125 6125.5 6126 6126.5 6127
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usr_coil4:cyclenum {run == 6390}
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796.4−
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usr_coil6:cyclenum {run == 6390}
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usr_coil7:cyclenum {run == 6390}
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